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MATHEMTAICS

T-1
Rp® 14x1=14

Choose Wer,

I ‘trl: 1'63:1:@-0@ fromasetA={12345}toset B thcn the number of elements in B 1s
2 )4 d8

'}Jb;mngn of t])xe relation R= {(x, x*)/x is a prime number less than 13} is

) {2357} B {23571} o) {492549,121) d){1492549 121}

The sum of the exponent of the prime factors in the prime factorization of 1729

a)l, b) 2 33‘3 d) 4 &
)

y’-l-l!y‘asnotequalm a})"+ bY(y + | }’ ¢)(y- -)’+?- dy-

* Which of thufnllumngshoﬂd bc added make x'+64a perfcct square? @

Haxd b 16x o) 8x* d)-8x*
If AABC is an isosceles. fnangle with Z£C =90° and. AC —Scm then AB is

“ """".-of!ﬁehnnwhi‘ehlsmendwmt“aﬁmlommgme @

, b)'l t‘:)- d)-'ﬁf - i : :
radius

1 b2 d4
‘height is 13cm will be
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25,
26

29, Let. The set of all natural numbers less than 8, B= The set of all prime numbers, C =T
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Ac= 10cm BD = .5cm and CD= 3.5cm check whether AR is bisector of £ZA of AABC.

;:. gd'mof a line joining the points (14, 10) and (14,-6).
AR ek whose surface area is 154m’. d :
e, ?ﬁwmfmmm # ‘ea; solid is 1386 sq. metres then find its total surface ared.
57, Find the range and coefficient of range of the data

§5.89,98,125.79,108, 17,68 o internal and externa
58, Find the volume of the iron used to make a hollow cylinder of height 9cm and whose internal an
™ radii are 3em and Sem respectively. , . S

Sy i : = 4 PART-111 V.ﬂ"“ ms = 50
Answer any 10 questions. Question No 42 is compulsory. N

e numbers. Verify that (A A B) x C = (Ax Ch(BxC)

 table form i) as a set of ordered pairs i:&in a
bers between 100 and 1000 which are divisi

1) (-5,12) and (-4 ,3)
angle of elevation of the top of the
y. If the lighthouse is 200m height find the

*

45 cm heights are 28cm and 7em. Find the volume of the

e height of the toy is 25cm. Find the total of
meteris 12em.
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